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SECTION -A

Question ID : 3666942933

1.

Ans.

Sol.

Let o, B, y be the three roots of the eqaution x* + bx + ¢ =0. if By =1 =—a, then b*> + 2¢* — 3a* — 63* — 8y°

isequal to:

AT o, B,y THERIT X +bx +c=0 B TA AR AR Py =1 =—a, A b* + 2¢* — 30° — 6B° — 8y* RIR B |

(121 (2)19 3) %
Official Answer NTA (2)

Roots of x* + bx +¢ =0 are o, P,y
“By=1=-a

Soo=-1 (i)
ando+pB+y=0 ...(11)
ofy=-c ..(1i1)
se=1 wl1V)
B+y=1 (V)
cof+Py+yo=b

= a(B+y)+By=>

5 b=0 (VD)

SPB=—o,y=—0°  ..(vid)
b’ +2¢* —3a* —6p° -8y’
=0+2+3+6+8

=19

Question ID : 3666942947

155
Ob=

2. If the points with position vectors o + 103 +13k , 6i+1 13 +11k , %I + B} —8k are collinear, then
(190.— 6pB)* is equal to :
A A A A A A 9’: o ~ . -
afe Refd afeer ai+10j+13k, 6i+11j+11k, §1+[3]—8k & fAg g X # €, a1 (190, — 6B)* SRR &
(H16 (2) 36 (3)49 4) 25
Ans. Official Answer NTA (2)
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Sol.

1fA(a), B(b), C(€) are collinear then
AB||BC||AC
Now AB =(6—oc)i+j—2lz

BC=-%§+([3—11)}—1912

E||B—C:>6_—a=;=+£
T3 T p-11 19
2

:>6—0L=_—3:oc=6+i=£:19oc=117
19 19 19

B—11=+E:>11+B=ﬂ:>6[3=123
2 22

(190 6B)" = (=6)" =36

Question ID : 3666942941

3.

Ans.

Sol.

(x+1)

betieo= I X(1+xex)

~dx,x >0 .If limI(x) =0, thenI(1) is equal to :

1 I(x)=ILD2dX,X>O%I?I% lim [(x) =0 & @ I(1) &R & :

x(1+xe")
(1) 2 g, (e+1) @ L Liog (e +1)
e+1 e+2

3) L iog (e+1) @ 2 Liog (e +1)
e+2 e+1
Official Answer NTA (1)
(x+1)

-dx
X 1+Xe")

I(x) =

1+xe* =t

(xeX +ex)dx =dt
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(x+1dx = Lxdt
e

. dt t—(t=1)
'Ixe -t j(t Dt? jt(t—1)~t2jt(t—1)tdt

_J‘dt_J't (t— 1)

j t(t—1) w-n i

=1n|t—1|—ln|t|+%+c

= ln’xeX

’1 +xe*

+C

X

1+xe

1
1+ xe*

| xe*
|1+xeX

+C

I(x)=

limI(x)=c=0

X—>®

1
+—

LI =In|—
1+e

1+e

=lne—1n(1+e)+L
I+e

_SP2 ndte)
e+1

Question ID : 3666942932

4. Ifforz= o +if,|z+2|=z+4(1+1), then o + B and af} are the roots of the equation :

IR z=a+if & |z+2|=z+4(1+i), o + P T2 aff od FHHR0 S ol B ?
(Hx*+7x+12=0 (2)x*+2x-3=0 B)x*+x-12=0 (@) x*+3x-4=0
Ans. Official Answer NTA (1)
Sol. z=a+ip
|z+2|=z+4(+1)
[(a+2)+iB|=a+if+4+4i

J@+2) +p° =(a+4)+i(B+4)

compare real and imaginary part from both sides
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Bid=0=p=—4
and /(e +2)’ +16 = +4

o’ +4+40+16=0>+16+8a
Sa=L3=-4

a+B=-3,apf=-4

Hence equation is x> — (-3—4)x + (-3) (-4)=0
XX+7x+12=0

Question ID : 3666942939

S.

Ans.

Sol.

n

Let S, = 1+2+—+K and ZS? = %(an +Cn+D) ,where A,B,C,D e N and Ahas least value. Then

K i=1

(1)A+Bisdivisible by D (2)A+B+C+ Disdivisible by 5
B3)A+B=5(D-0C) (4)A+C+Disnotdivisible by B

A S, =% qen ZSJZ :%(an +Cn+D) & W& A,B.C.De N ¥aI A Pl A e & | o
=

(DA +B,D % faarsa 2 2Q)A+B+C+D, 5w
3)A+B=5D-C) (4)A+C+D, B fansa gt 8
Official Answer NTA (1)
K- (K+1) K+1
Sy = =
2K 2

(s,) =zn:(j+l) =%(22 +3 44 (n+1))

=1 =

1 ((n+1)(n +62)(2n+3) _1)

N

N

(n2+3n+2)(2n+3)—6]
6

| =

2n° +6n° +4n +3n° +9n+6—6]
6
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1 2n° +9n” +13n
4 6

=2n—4(2n2+9n+13)

A=24,B=2,C=9,D=13
A+B_§_2
D 13

Question ID : 3666942934

2 1 0
6. Let A=|1 2 -—1|.If|adj(adj(adj2A))|=(16)", thennisequalto:
0 -1 2
2 1 0
AT A=|1 2 -1|2|3|adjadj(adj 2A))|=(16)"8, A n SRR :
0 -1 2
(1)8 2)9 3) 10 412

Ans. Official Answer NTA (3)
Sol. |adij(adj(adj2A))|
=|adj(adj(24))
= Jadj 2A*

=2AF = (8 |A)*=16" { [A[=4}
=n=10

Question ID : 3666942946

X-4_y+2 z+3 and x-1_y-3_z-4.
5 3 3 4 2

7. The shortest distance between the lines

%@T@ﬁ X;4=y;2:Z;—3agﬂ X3_1:y;3:Z;4 Eﬁgh'_c[v Eﬁ%

(1) 346 (2) 63 (3) 6v2 ) 26
Ans. Official Answer NTA (1)

1S
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Sol.

i (E—B)x(ﬁlxﬁz)‘

d — —
‘nlxnz‘

a=(4,-2,-3)
b=(1,3,4)
n =(4,5,3)
n: =(3,4,2)

i

—.

mxn, =4 5
3 4

=i(-2)=j(-D+k(1) = (-2,1.1)

W

S4

_(3,-5.-7) (2L |-6-
) B

5-7|
% e

Question ID : 3666942937

8.

Ans.

Sol.

The number of ways, in which 5 girls and 7 boys can be seated at a round table so that no two girls sit together,
is:

5 Tsfadi 9o 7 TSl B b el 7ol IR 39 UHR JoT, {3 Big W1 &1 FsfHdl U 911 7 98, & dRIa] &1 G
8!

(1) 7(360)* (2) 7(720) (3) 720 (4) 126(5!)?

Official Answer NTA (4)

7 boys can sit=6 !

which create 7 gap between then in which 5 girls have to set

No of ways = 6! . x 'C_ 5! = 126(5!)*

Question ID : 3666942948

0.

In a bolt factory, machines A, B and C manufacture respectively 20%, 30% and 50% of the total bolts. Of their

output 3, 4 and 2 percent are respectsively defective bolts. A bolt is drawn at random from the product. If the
bolt drawn is found the defective, then the probability that it is manufactured by the C is:

TS dIee g9 & HRE H 72 A, B @21 C gel ST &l HH2%: 20%, 30% A1 50% diee a4 8 | 377 /=i
& ITUTEH BT HHL: 3, 4 TAT 2 GRILT dlec TG & | diee] & I § A IS diee Arges 4] Fdrer S § | afe

BT T diee R YR Sl 7, 41 590 9209 C gRT 91 ST &) UTiidhdT 8
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Ans.

Sol.

3 2 9 >
)2 2) = 3) %% AT
M7 @7 ®) 2 @ %
Official Answer NTA (4)
Using Bayes’ Theorem

. oqe 50X2
Required probability = 20%3+30x4+50%2

B 10
6+12+10
_1o
28
_2
14

Question ID : 3666942945

10.

Ans.

Sol.

If the equation of the plane containing the line x + 2y + 3z—4 =0 =2x + y —z+ 5 and perpendicular to the
plane f=(i—j)+k(i+j+l§)+p(f—2j+3l§) isax +by+cz=4,then(a—b+c)isequalto:

IfE e, R @I X + 2y + 32 -4 =0 =2x +y — z + 5 Reya & qen 5 w9adt
F=(—))+r0+]+K)+p(i —2j+3k) P eiqaq &, T T ax + by +cz =42, A (a—b+c) TR R:

(1)18 (2)22 (3)20 (4)24
Official Answer NTA (2)
Equation of plane containing line of intersection of plane x + 2y + 3z—4=0and 2x+y—z+5=0 will be
P+AP =0=(1+20)x+2+N)y+(B-A)z+(5L-4)=0 (1)
This plane is L to plane
?=(f—j)+x(f+_j+l§)+p(f—2j+3l§) (2)
i j Kk
Normal ofplane (2)=[1 1 1|=5i-2j-3k
1 -2 3

Now both plane (1) and (2) L Hence their normal also L
5(1+20)-2(2+1)-3(3-1)=0

—8+11}»=0:>7»=i
11
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. 27 30 25 4
Now equation of plane —x+—y+—z——=
11 11 11 11

27x+30y+25z=4
Hencea—-b+¢=27-30+25=22

Question ID : 3666942940

11. lim (I_C?S 59 sin” (4) = | | isequalto:
<1( | cos’@x) | (log. 2x+1))

. (1 - 0(3)52 (3x) sin’ (4x) ||
Xx=0 cos”(4x) (loge 2x+ 1))

()15 (2) 24 3)9 (4) 18
Ans. Official Answer NTA (4)

x—0

. 3
sin 4x 3
64
Sol hm[l—cos%x} 9%’ ( 4x jx 3
0 2 3 1o 5
9 4
X cos” 4x [1n(12+2x)} \ .
X

Question ID : 3666942949

sinx+cosx—x/§ 0k

12, Let f(x)= xe[0,n]—1 % .Thenf(—jf" 7-”) isequal to :
4 12) (12

sin X —cos X

AR f(x) = sinX-+cosx =2 x &[0 n]—{ﬁ} 2 f(ﬂjf"(ﬁj RS
sinx —cosx ’ 4 12 12

2 -2 2 -1
Oy 2 =5 ) NG D35

Ans. Official Answer NTA (1)
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(1 : 1 j
—=sinX+—=cosXx |—1 .
Sol.  f(x)=+2 V2 V2 _sin(x+7n/4)-1

1 1
\/E(sinx—cosx
N ARG

Fi(x) = cos(x+m/4)sin(x—n/4)—cos(x—n/4)(sin(x+71/4)-1)

) sin(x—m/4)

sin®(x—m/4)

f'(x)

_cos(x—m/4) -1 _ —(1—-cos(x—m/4))

1
1+cos(x—m/4)

f(x)=-

sin(x —m/4)
(I1+cos(x—m/4))

F(7m/12) = ———

NE)
243

f%7n/12)=—~7§i

—f'(x)=—

£(7r/12)f "(Tm/12) =§

Question ID : 3666942950
13. Negationof(p=>q)=(q=p)is:

Pp=>q=(@=p) FfNgTE:

Mpv(~9 @) (~qAp
Ans. Official Answer NTA (3)
Sol.  (p—>q)—>(@—p)

=(p'va) v(a vp)
=(prq)v(d vp)
=pvq

Now (p vq )

sin®(x—m/4) 1—cos’(x—m/4)

3)ga(~p)

4 (~pvq
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=p Aq

Question ID : 3666942944

14.  LetR be the focus of the parabola y? =20x and the line y = mx + ¢ intersect the parabola at two points P and
Q. Let the point G(10, 10) be the centroid of the triangle PQR. If ¢ —m = 6, then (PQ)?is :

AT URAeTd y? = 20X P51 A1 R B T X@Ty = mx + ¢ TRaerd Bl &I fdgaii P d21 Q R dresdl ® | 741 313 PQR
@ =, 895 G(10, 10) B 1aRc —m =6 8, a1 (PQ)? RIR B :

(1)325 (2) 346 (3) 296 (4)317
Ans. Official Answer NTA (1)

P(x,,y))

G(10, 10
(5,0)

Sol.

Q(x,, ¥,)

y*=20x,y= mx+c¢

y2 =20(y_cj
m

o 2y 20c o yiryry,

=10
m m 3
§=30
2
m=—
3
and c—m=6
c=z+6 §=c
3
2OX@
y? —30y + 3 —0= y>-30y+200=0

2
3
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y=10 =>x=5
y=20 =x=20
P(5, 10); (20, 20)Q
PQ?=15>+10>=225+100 =325

Question ID : 3666942931

15.

Ans.

Sol.

Let the number of elements in sets A and B be five and two respectively. Then the number of subsets of A x B
each having at least 3 and at most 6 elements is :

A1 Al A 71 B H Jaad] 1G] AL Ui dA1 a1 8 | A1 A x B & Suageel, f5=H & 3 &9 3 o1 1fded
M 6 37U B, DI AT 8

(1)792 (2)772 (3) 752 (4) 782
Official Answer NTA (1)

n(A)=5,n(B)=2

- n(AxB)=10

Number of subsets=""C, +'°C, +'°C, +'°C, = 792

Question ID : 3666942936

16.

Ans.

Sol.

The number of arrangements of the letters of the word "INDEPENDENCE" in which all the vowels always
occur together is :

gig "INDEPENDENCE" & 31eRT & forg= & d¥io, for=8 ) Tax S8 Uh 12 8, B A1 8

(1) 33600 (2) 16800 (3) 18000 (4) 14800
Official Answer NTA (2)
Vol.I,,E,E,E.E
Constant N, D, P, N, D, N, C
8! 5!

No of ways = 32021 16800

Question ID : 3666942938

17.

If the coefficients of three consecutive terms in the expansion of (1+x)" are in the ratio 1 : 5 : 20, then the
coefficient of the fourth term s :

IS (14+x)" & YAR 3 A HANTG YGT & TOTT BT 3urd 1 : 5 : 20 2, A1 A1 U &1 01 ©
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(1) 1827 (2) 2436 (3) 5481 (4)3654
Ans. Official Answer NTA (4)
HC:r—l _ nC:r _ nC:1r+1
Sol. L 5 " 20
[n
n—r
) [r
< =5= [n =5
! Cr—l IE
n—-r+1{r—1
n—-r+l

=5=>n=6r-1... (i)
r

i=4:>2=4:>n=5r+4.
"C r+1

from (i) and (i1), r=5,n=29
= Coefficient of fourth term = *C, = 3654

Question ID : 3666942943

18.  LetC(a, ) be the circumcenter of the triangle formed by the lines
4x+3y =069
4y —-3x=17,and
x+7y=61.
Then (o —pB)*+ o+ Pisequal to:
LIGIRSCICI]
4x+ 3y =69
4y —3x =17, =0
x+7y=61.
gR1 Affa Bt &1 uRa= Co, B) g1 AT (0 — PP+ o+ B TRER B :
(1)18 )17 3) 16 4) 15
Ans. Official Answer NTA (2)

LB

x+ 7y =61
ol 3xtay=17 Y

- A
AX+3y =69 \_

4x + 28y = 244
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4x + 3y =69
25y =175
y=7,x=12
A(12,7)
—3x+4y=17
3x +21y=183
25y =200
y=8x=5
B(5, 8)
.. Circumcenter

17 1
o =— = —
213

5
2
Z3)
272
(—PB) +a+p

1+16=17

Question ID : 3666942942

19.  The area of the region {(x,y) X <y<8-x’,y< 7} is:

& {(X,y):XZSySS—XZ,yS7} B ETHA B

(1) 18 (2) 24 (3) 20 (4)21

Ans. Official Answer NTA (3)

Sol.  y>x* y<8-x’ y<7

x?=8-x"
x’ =4
X =22
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=2 7+2—2 =2 7+1—0 _—2
i 3 3 3

Vool
) 11 a b
20 Let P= , A= and Q = PAPT. If PTQ?» P = ,then2a+b—-3c—4dequal to:
1 3 0 1 c d
2 2
Vool
h 9 11 a b
qmpP=| 2 2| A= o Q = PAPTR | 9 PTQX P = @ 2a+b—3c — 4d RS -
1 3 01 c d
2 2
(1) 2004 (2) 2007 (3) 2006 (4) 2005
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Ans.

Sol.

Official Answer NTA (4)
B |[VB
- 5115 511 o
ppT=| 2 2| 2 2:{ }=I=PTP
L B0
2 21l2 2

PTQ™pT = p’ [(PAPT)(PAPT) ........ (PAPT )]P
_ PT I:PAZOWPT]P

:A2007

Al ]

1o 1

Az__l 1 1] 1 2]
1o 1Jlo 1] o 1

A3__1 201 1] _[1 3]
Lo 1o 1) [0 1]

qor _[12007] _[a b
o1 | |c d

a=1,b=2007,c=0,d=1
2a+b-3c—4d =2005

SECTION -B

Question ID : 3666942955

21.

Ans.

Sol.

Ifthe solution curve of the differential equation (y —2log, X) dx + (x log, x° )dy =0,x > 1 passes through

the points (e,?j and (e*, o), then a is equal to

IS 3faehel THIDHROT (y—2logex)dx+(xloge xz)dy=0,x>1 1 8 ah gl (e,g) qer (e, o) | Bl

ST 2, o o SRTeR ©
Official Answer NTA (3.00)
(y-2Inx)dx +(2xInx)dy = 0.

2x1nxd—y+y=21nx
dx
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by, vy _1
dx 2xlnx x

1 |
LF. =eI2X1rlx =4/lnx

.". Solution of the equation is :
y-vJInx = I ﬂdx
X
2 3
s y-AInx =§(lnx)2 +C ... (1)
. . 4
". eq. (i) passes through point (e,gj.
~C=

2
3

3
s yv/Inx =§(ln X)? +§ ... (iD)

This equation passes through point (e*, o)

Soo =3,

Question ID : 3666942959

22.

Ans.

Sol.

Let a=6i+9j+12k, b=ai+11j—2k and ¢ be vectors such that x¢ =axb.If

5-6=—12,E-(f—23+f<)=5,then E~(i+3+f<) isequal to

A AR 4 =61+9]+12k, b=ai+11j—2k T ¢ SATBRE > &
a-6=-12,¢-(i-2j+k)=58 @ ¢-(1+j+k) w2

Official Answer NTA (11)

a=6i+9j+12k a-b=60+99-24=60+75
b=oai+11j-2k a|=36+81+144 =261

axc=axb- a-c=-12, c&(i-2j+k)=5
axc=axb. — axc—axb.=0

= ax(c-b)=0

— c¢-b la

— ¢=b+Ad
Now —¢-d=b-d+A@-d)=—12

xC=axb g1afe

MATRIX JEE ACADEMY

Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 17




Question Paper With Text Solution (Mathematics)

n M ATRIX JEE Main April 2023 | 08 April Shift-1

60 +75+1(261) =12

60+ 261\ = —87 @)
G(i-2j+k)=5=(0—-22-2)+ M(6-18+12) =5
=>o=29

From equation (i) A=-1

Hence =¢-(i+j+k)=(b-a)-(i+j+k) =11

Question ID : 3666942956

23.

Ans.

Sol.

The largest natural number n such that 3" divides 66! is

B g=guTies n, o forg 66!, 3" A frsa 8, 8
Official Answer NTA (31)

SHEHE

22+7+2=31

Question ID : 3666942953

3

24. Ifaaisthe greatest term in the sequence a, = —; 147,n:1,2,3,...thenocisequalto
n +
3
IS 3 a, = 4n ,n=1,23,... HAVHTA UG a_ g, A o0 RIR &
n" +147 ¢
Ans. Official Answer NTA (5)
3n?(n* +147)-4n’(n’
) )
. (n4+147)
n’ [3n4 +441 —4n4]
f'(n)= ; 5
(n +147)
—n’(n*-441) -n?(n’+21)(n*-21) -n?*(n’®+21
) (2] )
(n4 +147) (n“ +147) (n“ +147)
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Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 18




n M ATRIX Question Paper With Text Solution (Mathematics)

JEE Main April 2023 | 08 April Shift-1

max
3
Whenn=4 a,= 44 ___o
4" +147 256+147 403
Whenn=35 a,= 125 125

625+147 772

as is max=E hence n=5
772

Question ID : 3666942951

25.

Ans.

Sol.

LetA={0,3,4,6,7,8,9,10} and R be the relation defined on A such that R = {(x,y) € AXA:x—yisodd

positive integer or x —y =2}. The minimum number of elements that must be added to the relation R, so that
itis a symmetric relation, is equal to

AMA=1{0,3,4,6,7,8,9,10} BAAMAWR UG AT R, R = {(X,y) € Ax A : x — y [I59 g1 Yuries & A1
X —y =2}. ERTURMING g | §dg R & FHHT TG99 B8 & oY S99 &H I &H fdhd+ 31a9d Sirs 118

Official Answer NTA (19)

A=1{10,9,8,7,6,4,3,0}

R = {(10,9), (10, 8), (10, 7), (10, 3), (9, 8), (9, 7), (9, 6), (9, 4), (9, 0), (8, 7), (8, 6), (8, 3), (7, 6), (7, 4),
(7, 0), (6. 4).(6.3).(4,3), (3. 0)}

All the elements of R, (a, b) are of type a>b.

Hence we need to add total of 19 more elements to R to make in symmetric.

Question ID : 3666942957

26.

Ans.

Sol.

Consider acircle C, : x*+y*—4x—2y = o — 5. Let its mirror image in the line y = 2x + 1 be another circle C,
: 5x* + 5y*— 10fx — 10gy + 36 = 0. Let r be the radius of C,. Then o + r is equal to

U g C, 1 x2+y? —4x — 2y =0 — 5 B fIaR SIRY | 791 @M y = 2x + 1 § g4e1 g4 gfdfda ga C, : 5x% +
5y*—10fx — 10gy + 36 =08 | AMI g C, ! BBraqir 8 | o0 + r SRR 8

Official Answer NTA (2)

X4y —4x-2y+5-a=0

C,2.0r =
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2x—y+1=0
Image of (2, 1)

X=2 y-1_ =2(4-1+1)

2 -1 5
X—2_y—1_—_8
2 -1
X=2—E=_—6,y=l+§=E
5 5 5 5

X2+y2—2fx—2gy+%=0

C,(f,2)

36 169 36
= +

o=—
25 25 5

36+169-180
= =
25

Lot+r=2

a=1=>r=1

Question ID : 3666942960

27. Let the mean and variance of 8 numbers x, y, 10, 12, 6, 12, 4, 8 be 9 and 9.25 respectively. If x >y, then 3x

—2yisequal to

AT 8 TR X, v, 10, 12, 6, 12, 4, 8 & e TAT YARV[ THAY: 9 21 9.25 B | AR x > y ¥, AN 3x — 2y RER &

Ans. Official Answer NTA (25)

X+y+52
8
For variance

x-9,y-9,3,3,1,-5,-1,-3

x=0

Sol. =9=x+y=20
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C(x=9+(y-9’ +54
8

(x=9) +(11-x)* =20

x=7orl13..y=13,7

3x—2y=3x13-2x7=25

0>=9.25

Question ID : 3666942952

7
28.  Let[t] denote the greatest integer <t. If the constant term in the expansion of (3){2 - 21—5j is o, then [a] is
X

equal to

w[t]wquﬁzﬁst%luﬁ(ﬁz—Lj % UNTR H 3R US o 8, d1 [o] S_TER 8

2x°

Ans. Official Answer NTA (1275)

I

Tr+1 =7 Cr 37—1’ (_%jr X14—7r

For term independentof X : (4 —7r=0=>1=2

2
Required coefficient =7 ¢, 37 (_lj = 76, 3’ 1
2 2 2°
6
_13 =1275.85
4

[1275.85] = 1275
Question ID : 3666942958

29.  LetA, A, be the values of A for which the points (% .1, %j and (-2, 0, 1) are at equal distance from the plane

2x + 3y — 6z + 7 =0.If , > A, then the distance of the point (A, — A,, A, A)) from the line
Xx=5 _ y—1 _ z+7 is
1 2 2

A Bl

17772

AMT A & 7, o+ forg fig) G,l,k) e (2,0, 1) TAAA2Xx + 3y — 62+ 7= 0 A A T R &, &
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A, >, B ARG (0, — A, A, ) B T XIS _ y2—1 - ZJ2“7 SEUE
Ans. Official Answer NTA (9.00)

Sol. |

3 15—6x‘

7 7

Ar=2o0r3

Ao=30, =2

(A =2y, 00,0, ) =(1,2,3)
P

(1.2, 3)

-

m
(L+5,2L+1,2,~7)

PM-(i+2j+2k)=0
(h+4)+2(2L=1)+2(21-10)=0
=9 =180rA=2

Distance =v6° +3°>+6> =9

Question ID : 3666942954

. 2 psn .
30. Let [t] denote the greatest integer <t. Then — I 5/6/6 (8[cosec x]—5[cot x])dx isequal to
TE T

AT [t] FEqH QUi < t B | EISM (8[cosec x]—5[cot x])dx SRTSR B
T I7/6

Ans. Official Answer NTA (14)
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/6 /4 T2

3 /4 51/6

1= %I:;m (8[cosec x] - 5[cot x])dx

For xe(n/6,51/6)

cosecx €[1,2)

[cosecx] =1

6

Rl Ll Ll i DL
I= 3{ [ 8(dx— [#5(1)dx - [25(0)dx — [# 5(=T)dx - [.¢ 5(—2)dx} =14
T o : g 0
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